CVS BEST DEALS 6/15 - 6/21 Savvy Coupon Shopper

NIVEA BODY WASH BUY 2 GET \$7 EXTRABUCK

Buy (2) Nivea Men Body Wash \$5.99 Pay \$11.98 & get a \$7 ExtraBuck Final cost is \$4.98 for both or \$2.49 each

DOVE MEN + CARE BODY WASH OR BODY SCRUBS BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Dove Men + Care Body Wash (\$8.99, \$4.50)
Total comes to \$13.49
Use the \$5/2 Dove Men digital coupon (exp 6/22)
Pay \$8.49 & get a \$2 ExtraBuck
Redeem to Fetch Rewards for (2) \$2 Dove Men product rebates
Final cost is \$2.49 for both or \$1.25 each

SCOPE/CREST PRO HEALTH MULTI PROTECTION 1 LITER OR ADVANCED 500ML \$4.99 BUY 2 GET \$4 EXTRABUCK

Buy (2) Scope/Crest Mouthwash \$4.99 each Total comes to \$9.98 USe the \$2/2 Crest/Scope digital coupon (exp 6/21) Pay \$7.98 & get a \$4 ExtraBuck Redeem to Ibotta for (2) \$1 Crest/Scope rebates Final cost is \$1.98 for both or .99 each!

GARNIER FRUCTIS SHAMPOO/CONDITIONER 10.2 - 13 OZ 2/\$8 BUY 2 GET \$2 EXTRABUCK

Buy (2) Garnier Fructis Shampoo/Conditioner 2/\$8
Use the \$4/2 Garnier Fructis digital coupon (CVS App exp 6/21)
Pay \$4 & get a \$2 ExtraBuck
Final cost is \$2 for both or \$1 each!

NIVEA HAND/BODY LOTION, FACIAL, LIP CARE, MEN'S SHAVE SPEND \$20 GET \$10 EXTRABUCK

Buy (1) Nivea Skin Firming 16.9 oz Lotion \$12.99 Buy (1) Nivea Sensitive & Radiant Lotion 6.8 oz \$7.99 Pay \$20.98 & get a \$10 ExtraBuck Redeem to Ibotta for a \$2 rebate on the Nivea Skin Firming Body Lotion Final cost is \$8.98 for both or \$4.49 each

COLGATE TOTAL ORAL CARE/360 FLOSS TIP TOOTHBRUSH SPEND \$10 GET \$5 EXTRABUCK

Buy (2) Colgate Total Mouthwash \$5.49 each Total comes to \$10.98
Use the \$3/2 Colgate Total digital coupon Pay \$7.98 & get a \$5 ExtraBuck
Final cost is \$2.98 for both or \$1.49 each

DOVE WHOLE BODY DEODORANT BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Dove Body Whole Body Deodorant 4 oz (\$12.99, \$6.50) Total comes to \$19.49
Use the \$10/2 Dove Whole Body digital coupon (exp 6/28)
Pay \$9.49 & earn a \$2 ExtraBuck
Redeem to Fetch Rewards 2000pts/2
Final cost is \$5.49 for both or \$2.75 each

ANY MAYBELLINE COSMETICS BUY 2 GET \$5 EXTRABUCK

Buy (1) Maybelline Baby Lips \$4.99
Buy (1) Maybelline Single Eyeshadow \$4.99
Total comes to \$9.98
Use the \$3 Maybelline CVS App digital coupon
Pay \$6.98 for both & get a \$5 ExtraBuck
Final cost is \$1.98 for both!

GARNIER WHOLE BLENDS SHAMPOO/CONDITIONER 2/\$8 BUY 2 GET \$2 EXTRABUCK

Buy (2) Garnier Whole Blends 2/\$8 Use the \$3/2 Garnier Whole Blends digital coupon Pay \$5 & get a \$2 ExtraBuck Final cost is \$3 for both or \$1.50 each

AJAX 28 OZ DISH SOAP \$2.79 BUY 2 GET \$2 EXTRABUCK

Buy (2) Ajax 28 oz \$2.79 each Total comes to \$5.58 Use the \$1 Ajax digital coupon Pay \$4.58 & get a \$2 ExtraBuck Final cost is \$2.58 for both or \$1.29 each

PUREX LAUNDRY DETERGENT 128 OR 150 OZ \$9.99 BUY 1 GET \$5 EXTRABUCK

Buy (1) Purex Laundry Detergent 128 or 150 oz \$9.99 Pay \$9.99 & get a \$5 ExtraBuck Redeem to Ibotta for \$1 Purex rebate Final cost is \$3.99

AXE DEODORANT OR BODY SPRAY BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Axe Deodorant (\$7.29, \$3.65) Total comes to \$10.94 Use the \$5/2 Axe digital coupon Pay \$5.94 & get a \$2 ExtraBuck Final cost is \$3.94 for both or \$1.97 each

ANY LOREAL FACIAL CARE BUY 1 GET \$5 EXTRABUCK

If Included: Buy (1) L'oreal HyraFresh Toner \$8.59 Pay \$8.59 & get a \$5 ExtraBuck Final cost is \$3.59

ANY CREMO

BUY 2 GET \$5 EXTRABUCK

Buy (1) Cremo Face Wash \$8.99 Buy (1) Cremo Shave Balm \$8.99 Total comes to \$17.98 Use the \$4/2 Cremo digital coupon Pay \$13.98 & get & \$5 ExtraBuck Final cost is \$8.98 for both or \$4.49 each

ANY TUMS BUY 2 GET \$5 EXTRABUCK

Buy (2) Tums Chewy Bites 8ct \$3.69 Pay \$7.38 & get a \$5 ExtraBuck Final cost is \$2.38 for both or \$1.19 each

REAL TECHNIQUES/ECOTOOLS SPEND \$15 GET \$10 EXTRABUCK

Buy (2) Real Techniques Sponges \$7.99 Pay \$15.98 & get a \$10 ExtraBuck Final cost is \$5.98 for both or \$2.99 each

SELECT GENERAL MILLS CEREAL 10.4 - 12.5 OZ \$1.99

Buy (2) Lucky Charms Cereal \$1.99 Total comes to \$3.98 Use the \$1/2 General Mills digital coupon
Pay \$2.98 & redeem to Ibotta for (2) .50/1 General Mills rebates
Redeem to Fetch Rewards for 1300 points wyb 2
Final cost is 68 cents for both or 34 cents each!

PALMOLIVE 20 OZ DISH SOAP \$3.49 BUY 2 GET \$3 EXTRABUCK

Buy (2) Palmolive Dish Soap 20 oz \$3.49 each Total comes to \$6.98 Use the .75/1 Palmolive digital coupon Pay \$6.23 & get a \$3 ExtraBuck Final cost is \$3.23 for both or \$1.62 each

SELECT GIFT CARDS SPEND \$100 GET \$20 EXTRABUCK

Promotion includes: Bass Pro Shop, GOLFNOW, FootLocker, PlayStation, AppleBee's, Dominos — check in store to see if CVS is included!

SPEND \$30 GET \$10 EXTRABUCK

Buy the Following:

- (1) Tide Liquid 34 oz \$5.49
- (1) Downy Rinse & Refresh \$6.99
- (1) Scott 12-Roll Bath Tissue \$9.99
- (1) Charmin 6-Mega Roll Bath Tissue \$9.99

Total comes to \$32.46

Use the Following:

\$1.50 Tide Liquid digital coupon

\$2.00 Downy Rinse & Refresh digital coupon

\$1 Scott digital coupon

\$1 Charmin digital coupon

Deducts: -\$5.50

Pay \$26.96 & get a \$10 ExtraBuck Final cost is \$16.96 for all 4 or \$4.24 each

\$4 OFF YOUR ENTIRE PURCHASE SCENARIO:

Buy the following:

(1) Purex Laundry Detergent 128 or 150 oz \$9.99 Use the \$4 off Entire Purchase Coupon Pay \$5.99 & get a \$5 ExtraBuck Redeem to Ibotta for \$1 Purex rebate Final cost is FREE!!!!!!

\$10 OFF \$70 SCENARIO BY THE FOLLOWING:

- (2) Nivea Men Body Wash \$5.99
- (2) Garnier Fructis Shampoo/Conditioner 2/\$8
- (2) Lucky Charms Cereal \$1.99
- (2) Axe Deodorant (\$7.29, \$3.65)
- (1) Purex Laundry Detergent 128 or 150 oz \$9.99
- (2) Loreal Elvive Shampoo/Conditioner 2/\$10
- (2) Real Techniques Sponges \$7.99

Total comes to \$70.87

USE THE FOLLOWING:

\$10 off \$70 Purchase Coupon

\$4/2 Garnier Fructis digital coupon (CVS App)

\$1/2 General Mills digital coupon

\$5/2 Axe digital coupon

\$3/2 Elvive digital coupon

Deducts: -\$23

Pay \$47.87 & get the following:

\$7 ExtraBuck for Nivea Body Wash

\$2 ExtraBuck for Garnier Fructis

\$2 ExtraBuck for Axe Deodorant

\$5 ExtraBuck for Purex

\$4 ExtraBuck for Elvive

\$10 ExtraBuck for Real Techniques

Redeem to Ibotta for (2) \$1 Nivea Men Body Wash rebates

Redeem to Ibotta for \$1 Purex rebate

Redeem to Ibotta for (2) .50/1 General Mills rebates

Redeem to Ibotta for (2) \$2 Axe Deodorant rebates

Redeem to Fetch Rewards for 1300 points wyb 2

Final cost is \$8.57 for all 13 items or 66 cents each

\$10 OFF \$70 SCENARIO BUY THE FOLLOWING:

- (2) Dove Men + Care Body Wash (\$8.99, \$4.50)
- (2) Tums Chewy Bites 8ct \$3.69
- (2) Scope/Crest Mouthwash \$4.99 each
- (2) Dove Body Whole Body Deodorant 4 oz (\$12.99, \$6.50)
- (1) Maybelline Baby Lips \$4.99
- (1) Maybelline Single Eyeshadow \$4.99
- (1) Purex Laundry Detergent 128 or 150 oz \$9.99

Total comes to \$70.31

USE THE FOLLOWING:

\$10 off \$70 Purchase Coupon

\$5/2 Dove Men digital coupon (exp 6/22)

\$2/2 Crest/Scope digital coupon (exp 6/21)

\$10/2 Dove Whole Body digital coupon (exp 6/28)

\$3 Maybelline CVS App digital coupon

Deducts: -\$30.00

Pay \$40.31 (roll ecb's) & earn the following:

\$2 ExtraBuck for Dove Men Body Wash

\$5 ExtraBuck for Tums

\$4 ExtraBuck for Colgate Mouthwash

\$2 ExtraBuck for Dove Deodorant

\$5 ExtraBuck for Maybelline

\$5 EXtraBuck for Purex

Redeem to Fetch Rewards for (2) \$2 Dove Men product rebates

Redeem to Fetch Rewards 2000pts/2

Redeem to Ibotta for (2) \$1 Crest/Scope rebates

Redeem to Ibotta for \$1 Purex rebate

Final cost for all 11 items is \$8.31!

CVS UNADVERTISED DEALS

DIAL BAR SOAP 2-3 PACK, BODY WASH 16-32 OZ, FOAMING HAND WASH 7.5 OZ, LIQUID HAND WASH 110Z OR 52 OZ REFILL BUY 2 GET \$3 EXTRABUCK

Buy (2) Dial Liquid Hand Soap (3.69, \$2.21)

Pay \$5.90 & get a \$3 ExtraBuck

Redeem to Ibotta for .50/1 Dial Hand Soap Rebate (limit 1)

Final cost is \$2.40 for both or \$1.20 each

CHIGGEREX OINTMENT 1.75 OZ BUY 1 GET \$4 EXTRABUCK

Buy (1) ChiggerX Ointment \$5.99

Pay \$5.99 & get a \$4 ExtraBuck

Final cost is \$1.99

DOVE HAND WASH OR DOVE MEN + CARE NATURAL BODY WASH BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Dove Foaming Hand Wash (\$5.49, \$2.75)

Total comes to \$8.24

Use the \$1 Dove Hand Wash digital coupon (exp 6/28)

Pay \$7.24 & get a \$2 ExtraBuck

Final cost is \$5.24 for both or \$2.62 each

VAGISIL PRODUCTS BUY 1 GET \$2 EXTRABUCK

Buy (1) Vagisil 20ct Wipes \$4.99 Pay \$4.99 & get a \$2 ExtraBuck Final cost \$2.99

PERSIL 34 OZ LIQUID DETERGENT \$6.99

Buy (1) Persil 34 oz Detergent \$6.99 Use the \$2/1 Persil digital coupon (exp 6/14) Pay \$4.99 & redeem to Ibotta for .50/1 Persil rebate Final cost is \$4.49

WILD WILLIES BEARD PRODUCTS SPEND \$20 GET \$10 EXTRABUCK

Buy (2) Wild Willies Beard Boost Serum \$12.99 Pay \$25.98 & get a \$10 ExtraBuck Redeem to Ibotta for (2) \$3 WW Beard Boost Serum 1 oz rebates Final cost is \$9.98 for both or \$4.99 each

DICKINSONS TONER BUY 1 GET \$3 EXTRABUCK

Buy (1) Dickinson Toner 16 oz \$6.99 Pay \$6.99 & get a \$3 ExtraBuck Final cost is \$3.99